Puissances de Dix (G)

74 x 1071

61 x 1071

80 x 107t

49 +~ 1072

55 x 1071

45 x 1071

71 = 1072

64+~ 1073

65 x 1072

91 x 1072

Trouvez chaque produit ou quotient.

45 - 1071 =

72 +107° =

46 =107 =

99 x 107! =

1+1072%=

73 x 1072 =

58 x 1071 =

40+ 1073 =

24 +107t =

72X 1072 =
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Puissances de Dix (G) Solutions

Trouvez chaque produit ou quotient.

74 x 1071 =7,4

61x107'=6,1

80x 107'=8

49 +~1072=4900

55%x 107t =5,5

45 x 107t =4,5

71+107*=7100

64 + 1073 =64 000

65 x 1072 = 0,65

91 x 1072 =0,91

45 + 1071 =450

72 +107°=72000

46 +~ 107 =460

99 x 107'=9,9

1+1072=100

73 x 107 =10,73

58 x 1071 =5,8

40 +1073=40000

24 +101=240

72x1072=10,72
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